-~y

X=141485 .77
Y=—28743 .88

A

-~

KATOMH - IYMEOGNIAHI /

K.A. 3062 /

-28760. 00—

NIKOAAQI AN .NIKOAETOXL
E = 1.376 T.pp.

XK=11439.70
Z Y=—28776. 46

€
~
~
~
~
~
~
N + l
-28780.00 N ‘
S i
~
\\
~
~
~
~
E = 163 T.u. ~ s ,
i \.‘7
E ~ \G AHMHTRIOLZ [MEPEAAHT
j X=11435.00 N
| Y=-28786.00 N
~
~
~
~
~
~
LYAOARKE! THN YIT API. .
fipHe 4\ PAKTHPIZMOY TOY .

« X=11480.00

/ N ~Y=-28793.00

KOG RATGN

oty g VI OHEPHY  AHMOTIA  AASIKH  EKTAZH
. ug & Bodud
X=11458 k38 A=11460.73
Y=—-28739% .32 Y=-287386.07

<-.‘EE’.3..‘..::;'"—- 7 : C\ ¥ 7 IV\

+ + S



